EARAROBEEIERT — 2 N— IBISH —F

2013F9RA25H (k) 10m5#A4H

mﬂﬁ%B 448 B4 45%—M (xwlw | lmEmml - |5 @) w8
[AE4)] 1 #%&:140,000 F ~ 2% :28,000MH  3#&:14000H / 4%:0M / 5&%:0HM
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- N =+ = . _Q_n_ _
1 2| FIVRETY =2 t> 4 %%EE 1.(4_2).8 3-3-3-2 |38.5 1 427 gg;ﬁé (&)
QRFATNE BAEZRLTU— ) ST k2 —Tr—n
= N BiFnt 143, -1-1- . — SRR (%A
2l8lg|F¥avIT AT s et N ’ f; mErE
RiFkLIALO— B:FavTITIAR Rt et
iy — B4 | RZHEIE 1:43.5 4-55-5 [39.0| — 2 484 |BREX (BEHE)
3|55/ N MFTI= A51.0 @/ 4y | EHEE
LY LTFAN=-F B:I=Z—Fv> Z=H 2
RPN 5 4 5 | RIFWAE 1:44.1 10-10-10-10{ 37.6 | — 9 416 WaA— (BHE)
Al |¥>h>8hTo 5.0 @®) o) | B A=x5T
R:Z2g—Y>s0-x B:rEIOX)— A AR
. B4 | EERA 1:44.4 2-2-2-3 | 40.3| — 8 440 | EEEE (£12)
58 10| B~ FTTF— 5.0 (172 o | 8 x-z47
L:xrinao— B:xvr7107523 SHEG
S, o it 6 | RERZ 1:44.4 9-9-8-8 [38.7| — 10 | 452 |/I\ERESEC (SE42)
6/7/8| ELLrT2a> 54.0 (7€) -) () KX
L:d—IRAaqfO— B b—F-—H 44— Fif Fk
7 . o4 | AWE— 1:44.4 8-8-9-9 [38.5| — 7 439 | wOFEE (BHE)
1 3 KIEMEEER Y 54.0 (NF) -6) | (B J PN
Ry —FGHLN B h—hv1H3 RS
° IWITFHZ : 44— — REERSLT (S5HR)
N NEEZS 2P 6 Q50 Ge | TR0 C 5 | EmEx
RV Ny TH BINEAY HEER
N 4 5 | RINARI 1:44.5 7-7-7-7 | 39.4| — 6 412 | DNEE=EAR (56HA)
9|7\ 7| VX/TYHY 54.0 (757) O |emEE
ROy I7FTITINEIL BAXILT 1 BHIT7—L
. B4 | EOEE 1:44.9 5-6-6-6 | 40.3| — 4 508 | MILIZ (5£#4)
1wl 6| 7V —7> 56.0 @ (1) | BABR
L:ZFAT=IK B RZARY =L FLENRB
® 1—F—@EBIERL
13=2F= 9,10,2,5,6,4,7,3,8,1
23— — 9,10,2,4,5,6,7,3,8,1
== 9,10,2,4,5,6,7,8,3,1
40 —F— 9,2,10,4,5,6,7,8,3,1
[ N5
B 2 180M 714K 2-9 180M e E 2-8 540 JEE 2-5-9 520
B B 2 120M 2=l 160MH B = 2-9 510M EE 2-9-5 1,890
9 230 5-9 330M B H 2-9 730M
5 130M

ABICOVWTRDTEEERROODE. TR LIV,




